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NOTE: On all the problems, please show all your work, and provide the appropriate units for your
answers. Also mark on the schematic to show any currents or voltages that you define in your
solution.

1. (25 Points) For the resistive circuit shown, find the current /; that
flows through the 8 V voltage source as indicated.
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@ 2. (25 points) Find the power absorbed by the 2 kQ in the circuit shown.
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3. (Total: 25 points) Consider the circuit shown below.

(a) (15 Points) Find the value of the load resistance Ry to be connected

', externally between terminals “a” and “b” such that the power
=" bsorbed by Ry, is maximized A
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(b) (10 Points) Find the maximum value of the power absorbed M
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4. (25 points) In the circuit shown, given the initial condition iz(z = 0) = 15

mA, find the source voltage vs(?) for £ > 0. Note that the current through the
50 Q resistor is also given.
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